Rory had an 0.8 snow cone after school. Savana had a 0.43
snow cone. How much more did Rory have than Savana?

Kelstyn wanted to see the difference between her longest and
shortest slimes. If the red slime was 13.84 inches long, the blue
slime was 11.9 inches long, and the green slime was 3.548 inches
long; what was the actual difference between the longest and

shortest slimes?

Tegan and Noah can't seem to agree on a math problem they did
for homework last night. Tegan says that 15.4 - 1.39 is 14.01.
Noah says he's wrong and that the answer is 0.25. Show which

person is right and explain how one of them is wrong.




